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GENERAL INSTRAUCTIONS TO THE EXAMINEES

1. QRIeTRIT FdYed U4 Ued UF WR AMiE Aarid: fowd |
Candidate must write frist his/ her Roll on the question paper compulsory.
2394 g SfarRd B |

All the questions are compulsory.

3. U® UL BT IR &l T8 SR YRKIdhT 4§ 81 fore |

Write the answer to each question in the given answer Book only.

4, T34 gl 9 o<IR® @Ue 8, I A & SR [P ART 81 ford |

For question having more than one part, the answers to those parts are to be written togeatherin
continuity.

5 U UF & 24l g 3USH wuR # BT ybR @7 Ffe /IR / TRmm s 8 R 2=
AT & U BT B FET A |

If there is any error/difference/contradiction in Hindi & English versions of the question paper, the

question of Hindi versions should be treated valid.
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Section A
Igfddbedl yT=—
Multiple Choice & Question-
1. 99 % HERA (BHs) fbd dF & W 27
(a1) ot (@) S
(@) vau (@) ulR&@oT
The Lungs in human beings are part of the system for
A. Nutrition B. Excretions
C. Respiration D. Circulation
2. 99 # ¥ DT UIGY ERAM &7
(@) s=gfer (3) emsRIERIE
(%) geIoT () et
Among the following which is plant Hormones-
A. Insulin B. Thyroxin
C. Estrogen D. Oxcin
3. B A IS BT MAIRIGAT BT S Hed o7
1) JTaT (@) Avsd
@) wrfa (@) Hscw
Which Scientist is called the" Father of Genetics"?
A. Bateson B. Mendel
C. Morgan D. Mendeleev
4. 99 # 9 59 TR BT SUART BT YTl H grar 2?
@ RreR TW"S (@) AfeTH FIRES

() I dRTSS (@) dfFT |rer
Which chemical used in photography

A. Silver Bromide B. Sodium chloride
C. Amonium chloride D. Baking Soda

5. WIRCX 3B IR &1 YIRS g3 28—
(1) CaSo, 2H,0 (@) Caso, %5 H,0

(Q:[) Na, CO; 10 H,0 (_Q’) Na,CO,
Which is the Chemical formula of "plaster of Paris"?

A. CaSo, 2H,0 B. Caso, % H,0
C. Naz C03 10 Hzo D. N32C03

6. Fv T % ¥ Spe A 7
(@) O, @ H,

() He (@) Co,



Example of Noble Gas

A. 0O, B. H,
C. He D. Co,

7. & vari ge1 & HRT g # T o g9 fewd 77
(31) WRTaH (@) TBHE
() faeroor (@) 3ac

Why apparent displacement of a pencil Partly immersed in water
A. Reflection B. scattering
C. Dispersion D. Refraction

8. YR 97 & o W W g BT Ufafdw a=7am a—

(@1) gfteuca W (@) gficucd & |mA
@) sfeuea & e @) o5 Mf¥aq =2
In which part of normal @ Human Eye areal Image form —
A. At Retina B. In front of Retina
C. Behind the Retina D. None of Above
9. faga wik &1 Sl wd 28—
(31) 51 (@) arc
(&) iR () dreT
SI unit of Electric Power
A.Joule B. Watt
C. Ampere D. Volt
10. /91 ¥ & B Tl dEwEE § -
@1 ER Hoil (@) PRI
SIRME] @) wpfad |
Which in renewable sources of Energy?
A. solar Energy B. coal
C. Petrol D. Natural gas
11. 7= § 9 #19 oRR sfwen w1 i #a §2
(an) =T, 1, qe ST (&) =T, FRG T HEE
() SR, T e g (@) &, FAT qoT TR
Which of the following constitute a food-chain?
A. Grass, wheat and mango B. Grass, goat and human
C. Goat, cow and elephant D. Grass, fish and goat
12. foadt =fe o 2-
(81) 7T =T R (q) T T R

(@) EH 7= W (z) == &I W



Tehri dam is built on-
A.river Ganga B. river Narmada

C. river Son D. river Chambal

Q2 7 ©IF & gl H=r —
Full fill the blank spaces -

1. FTEA-HTE THST TG FTTF oo FEAM @ |

Compounds containing carbon-carbon single bond are called ........................ .

2. TWAT] & 5 BT § Fag™ BT AAGTH FET AT DI BT T overeenrernrrnreenns 2|
Maximum Number of electron found in a shell of atom depend on the formula is .......................
3. QI TR®T BINTGT & A0 Tl R BT .o, FEd B
The Gap between Two neuronsis called .......................
4. ATB & W forEr|

6CO, + 12H,0 A Cs H1,06 + 60,

B
Write Name of A & B in this equaction.
6CO, + 12H,0 A Cs H1,06 + 60,
B

Jfaery o=
Very short answer type

Q3
1. ALY SFATHAT § Y 1 o9 8 2

What do you mean by a precipitation reaction?



2 I faera & PH &1 919 forr |

Write the value of PH of Neutral solution.
s Thg a1g & <1 s3etw fora |

Write two examples of Alloy.

4 2 DI Folag v WA 9918T |

Draw a electron dot structure of Methane

5. HEcll &I 3Mad FIRTY B IS Uh HaT faIlRey |

Give one limitation of Midlives of Periodic Table.
6. TR BT Aol ARTES BT DIFNT 9T BT 27

Which part of Brain maintain balancing of Body.

7. R H BINES GBI i BRAM BT M o t°Q|

Write one Human Male Sex Hormone.

s. g IRYer ¥ drecHIey T B a1y |

Write the uses of voltmeter in Electric Circuit.

0. TS D D ARI IR FHDHIY EFAERT BT = 1317 |
Draw a Magnetic field line around a Bar Magnet.

10. SIATEH S & &1 IRV IR |
Write two examples of fossil fuel.

1. SIS IRA BT T A fora |
Give an Advantage of ozone Layer.

12. AT & e (99 ¥ SFfaT fhda! faem &I a2iar 7 |
In Flaming left hand rule, thumb indicate which direction.

WUs B
Section B

4. QI8 I S § F=M F g I ik Fasd |
State two ways to prevent the rusting of iron.

5. BIEF B <l JUXHUT b A forar |

Write any Two Allotropes of Carbon-

6. TAIST & A=AT &l s 991U |



Draw a labelled diagram of formation of Micellas,
7. 3Mad AIROT # 9N ¥ TN 9W R WA Boar J@at ged 27

The Atomic Radius decrease in moving from left to Right in periodic table. why ?
8. MR ¥ 4T W dTel 37l BT 4 T BRI TR |

Write the name and function of Acid which secretes from Human Stomach.

9. @I fhY B B T SHBI BRI IR |

Define Placenta ? What is the Role of placenta
10. I8 Pl FI< Pl HT o7 T91=Y |

Draw a Labelled diagram of the longitudinal Section of a to flower.
11. <9 BT &9 B G iR 936 forr |

Write the formula and unit of Power of Lens.

12. fH0 =TT 1 TR - PRe! W iR &edr 21 (P12 )

Write any Two factor on which Resistance of a Conductor depend.

13. g gRuer e |Fierl § A= SUART 8F dTel &1 R U forf ey |
Name Two Safety measures commonly used in eclectic Circuit and appliances

14. JHIDBIY &3 DI I AT B BT IRV BT S e forg |
Write the Left hand Thumb full to find direction of Magnetic field.

15. 13U U forpa yRuer # gftomdt wfae foramm &2

2Q 20

Hil=
What will be the resultant resistance in the given electric circuit?

2Q 20

Hil=

16. $ON & TAHRONY AT AR Ao Gt ol gk ey |

Define the Renewable source and Non Renewable sources of Energy.
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Section C

N FIRIHD gF+-—

Long Answer Type Question -
17. T Wl YRl Bl fAGaied | g= &1 Uh Su™ fora |

Cuo+H, —> cu+H,0 ¥ T TeTRl &1 =TT IR fPADPT U= BT 27

What is done to prevent rancidity in Food Containing Fats.

CuO + H; = Cu + H,0 in above reaction which substance being oxidised and which substance reduced. [1+2=3]

18. G99 § SR Tf | fAdhol~ Il BRAM BT A9 Tl B oIl | SH! HHl F 8
qrel YT 1 A forfRay |

Write the name and function of hormone secreted by Pancreas Gland-.Write the name of disease due

to its deficiency- [1+1+1=3]

19. 9119 H Tl FRIROT BT TR iR SHST NG fF 1 9771l |
Explain Sex determination in human and Draw a Ray diagram. [2+1=3]

Y gfie I & FraroT & AT BT o B ST §
AT TN A & T G BT T o1l a1 e 7 |

20. (a)
(b)

(a) which Lens used to remove far sightedness defect of vision.

b) why the Sun appear Reddish at the time of Sunrise and sunset. [1+2=3]

s «

Section D

21. 2. RS o &1 TS I3 9 DR TS SUART o |

b. BT HIST BT IS F T PIS Th IYINT fordl |

c. 3T oIl &R H Blg & <R fora |

a. Write Chemical formula of Bleaching Powder. Give One uses of Bleaching powder.
b. Give chemical formula and One uses of Baking Soda

c. Give two differences between Acid & Base. [2+1+1=4]

SRIATOR

(a) Fr=afarfEa =1 gofaa wi—



A. Fa (i) =R o1

B. SATere (i) TERIfe sTeet
C. <A HEF (i) fafes st
D. SHE (iv) HoAfsw o0

(b) gTe il o1 THRH 53 o & 394 fol |

(a) Match the following-
A. Orange i) Tartaric Acid
B. Amla ii) Ascorbic Acid

C. Nettle Sting iii) Citric Acid

(
(
(
(

D. Tamarind iv) Methanoic Acid

(b) Write chemical formula of washing soda and gives its two uses.

22.a. AT H IO [ Had 2 | I9d ScdoT dF BT AMifhd IS a9 |

b. AT ¥ U (SR fham BT AHsSy |

a. Define Execration in human . Draw a labelled diagramed of Human Excretory system in Human
b. Explain Dialysis Mechanism in human

SRIATOR

i. g | 9IS BT UTae b Bed B2 HIFg Ut OF BT AMifhd o S8 |

ii. YIS & U= ofR &l Uh HRI Id1aT |

i. Write the meaning of digestion in Human. Draw a labeled diagram of Human digestive system.

ii. write the Role of saliva in digestion of food.

23. (a) 3Taaa 4O gRI Ufafers 1 fortor ST s1ell Siafer o5 ®ishs F I ferg 21|

(b) aTEdfae qer v wiafars o 51 e fafaw|

(a) Draw a ray diagram for a concave mirror, if the object is placed at focus.
(b) Write two differences between real image and virtual image

ateran
(a) ST TG g s o1l Wiafers o1 for fom smsht srefer fora =t feafa fomma’ W T
(b) 39U I &9 H 3 3= fafaw|

[1+2+1=4]

2+1+1=4



(a) Draw a ray diagram for a convex lens when the object is placed at infinity.

(b) Write two differences between mirror and lens.



